
U1 LM317LM
LINE VREG

COMMON

VOLTAGE

U2 LM317LM
LINE VREG

COMMON

VOLTAGE

U4 LM337LM

LINE VREG

COMMON

VOLTAGE

U5 LM337LM

LINE VREG

COMMON

VOLTAGE

R2
240Ω

R11
240Ω

D2
1N4004

D3
1N4004

R6
4.3kΩ

R8
4.3kΩ

C4
10µF
40V

C7
10µF
40V

C1
100nF
MKT

C9
100nF
MKT

C3
2.2mF
40V

C6
2.2mF
40V

D1 ZY33

D4 ZY33

C5
100nF
MKT

C8
100nF
MKT

R1

3Ω

R14

3Ω

R3
15kΩ

R9
15kΩ

R7
2.7kΩ

R12
2.7kΩ

U3
TL431BCLP

U6
TL431BCLP

R4
120Ω

R10
120Ω

Q1
MJE15031

Q2
MJE15031

R5
2.7kΩ

R13
2.7kΩ

LED1

LED2

C2
100nF
MKT

C10
100nF
MKT

IO1

IO2

IO3 IO4

IO5

IO6

+Vreg

-Vreg

Gnd

+Vin

-Vin

Gnd

Vout
R3=R9=
R7=R12=
R2=R11=
R6=R8=
Vin=

+/-15V
15k
3k
240
4k3
2x22V

+/-22.5V
24k
3k
240
5k6
2x25V

+/-25V
27k
3k
240
6k2
2x27V

+/-30V
33k
3k
240
6k8
2x32V

R1=R14= 1.25/(2 Iout) - calculate with required output current

All resistors 0.5/0.6 W 1% metal film, except R1 and R14, as per current requirements
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